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T 2 FHEEM | B L | & E %7 & T H FEEM | B | & @ % A
I IR dR ) 200 g 86 64 | HEHA — - - —
LA = OB 200 g 108 64 | &L 5 10 ke 5,184 3, 240
ZEoR & [ 200 ¢ 86 43 | T AL E— = B 250 ¢ 270 86
E O NAE D = R 200 g 75 54 | WD = R 250 ¢ 270 86
Fh&E m s 150 g 75 — || R = B 270 g 972 129
LwAEL K K 180 g 86 64 | T—N AR AT =y 9 ke 14, 040 -

— — — — — | Ty FE K 15 ke 7, 560 —

72N A £ & 10 ke 1, 728 1,404
T AU A w8 10 ke 4, 104 2, 700
(< W KUK 15 ke 2, 376 1,728
Xy XY O 10 ke 2,376 1,728
L&A £ E 10 ke 2, 700 1,620
R & A 5 ke 2, 160 —
ASCE = B 2 ke 1, 080 756
F=< h = A 4 ke 1,728 1, 296
BF— = st 150 ¢ 86 —
EZAED Frak 2 ke 2, 700 1, 620
Rk ™ B 4 ke 4, 644 3, 240
IFhv Lok REIR B 10 ke 3, 888 3,024
mEhRE L JE 10 ke 2, 484 2,376
ALV m & 100 g 172 86
LU £ B 100 g 64 43
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T H TEEM | B | & E % E Hh E FEEM | B | ®m E % B
AFESCAHE R 1 ke 2, 484 1,944 | HEHY 5 F U 1 kg 3,024 1,080
mESAHHE — — — — | N SV 1 ke 1,188 702
V% £ IE 1ke 3, 337 291 | # T = TAUK 1 ke 2, 160 1,080
o =) 1 ke 540 345 || ZEFD oKL 1 kg 1, 458 —
AT AR 1 ke 583 162 | FU A " B 1 ke 4, 860 1,728
A A AT g W 1 ke 1,782 907 | BTV~ ol ] 15 248 162
FEoN~F m 5 1 ke 1,814 324
&5 A = BE 1 ke 3, 888 216
& & = E 1 ke 3, 996 3,024
INTE It & 1 ke 918 540

7Y aE 1 ke 1, 728 594

AT E IF 1 ke 4, 860 3, 780

A T I 1 ke 3, 240 864
x7V REIR S 1 ke 2, 538 1, 350

VA = = 1 ke 1,620 1,026




